
 

 

 

1-Put the bracketed words in the right tense or form : 

An endangered animal is one that is at risk of becoming extinct or t risk of no longer being in 
existence.An endangered species is a species of animals, plants or other organisms that is in 
danger of becoming extinct. This could happen because there are few of that animal left, 
its predators have grown in number, or the climate that it lives in is changing, or the places it 
lives in have been destroyed. Endangerment of animals is occurring at an alarming rate due to 
environmental changes, the destruction of habitat, the shortage of food supply, and being 
hunted. There are two kinds of elephants: the African elephant and the Asian elephant, 
which are both endangered. There are believed to be around five-hundred-thousand 
African elephants in the wild, which may sound like a lot, but only twenty-five years ago, 
there were more than one million. The numbers are decreasing very quickly. That 
means in twenty-five years, half the elephants that lived, have died.Asian elephants are 
even more endangered than African elephants. There are less than 50,000 alive, which is 
only a tenth of the number of African elephants, due to the decreasing habitat and 
poachers. 

Day after day, the air we breath becomes more and more polluted by industrial, household, traffic, 
and other kinds of emissions. Huge factories and plants, billions of cars and public transport units, 
technogenic catastrophes, household aerosols, and other factors cause massive air pollution, 
decreasing the quality of life in many countries, and negatively affects the health of their citizens. 
Although, during the recent several decades, there were numerous attempts to reduce or at least 
control the rates of air pollution, it still remains one of the primary problems humanity needs to deal 
with—otherwise it may ruin everything. There are some places in the world that already appear like 
a human-caused apocalypse aftermath: cities whose ecology in terms of air pollution is so poor that 
it seems impossible to live there. 

According to CNN, the most air-polluted city on Earth currently is New Delhi. On Sunday, 
November 5th, Delhi Chief Minister Arvind Kejriwal had to proclaim an emergency situation 
due to high levels of smog.

Violence in schools is one of the most visible forms of violence against children. Violence in schools can 
take many forms, ranging from physical violence to psychological violence. It is often expressed through 
acts of bullying, intimidation and repression. Violence in schools creates insecurity and fear which harm the 
general school climate and infringe pupils’ right to learn in a safe, unthreatening environment. Schools 
cannot fulfil their role as places of learning and socialisation if children are not in an environment free of 
violence.  

 This particular smog was caused by crop field fires in neighboring 
states, but even apart from this, New Delhi is a city where breathing its air is rather difficult. Due to 
a number of factors, such as an exponentially growing population (New Delhi has reached 25 
million people), industrialization, and urbanization involving coal-fired power plants, and intense 
traffic with many cars fueled with diesel, it is easy to understand why New Delhi is recognized as 
the city with the worst air in the world. Besides, wind patterns typical for its winter period exclude 
proper air circulation, which contributes to making the situation worse. And now, adding to these 
problems, the recent fires have caused 5,000 schools to cancel classes for three days; the city’s 
biggest power plant working on coal had to be shut down for 10 days; all the construction 
operations in the city had to be stopped for several days as well. If the situation does not get better 
in the next couple of days, city authorities may have to impose vehicle restrictions. If the situation 
does not improve, Kejriwal might impose odd-even vehicle restrictions that would only permit 
driving every other day. As the Chief Minister have put it, “Pollution has increased to an extent that 
(the) outdoors in Delhi are resembling a gas chamber”  
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4° Supply the right tense or form of the bracketed words ( 3.5 mks ) : Fewer teens are smoking 
cigarettes than ever before. But in recent years another trend has replaced it. More middle and high 
school students now use electronic cigarettes ( vaping devices ) than any other nicotine-containing 
product. Even though e-cigarettes are believed to be ( safe ) ………………… than tobacco, scientists 
know very little about the risks associated with them. Most troubling: Almost all e-cigarettes contain 
nicotine, the same ( causing high level of addiction ) …………………… chemical found in tobacco 
cigarettes. ( Incredible ) …………………… , there was once a time when people didn’t know the dangers 
of tobacco cigarettes. Up until the 1950s, doctors were frequently shown in ads promoting smoking. 
Now we know that tobacco smoke contains thousands of ( poison ) ……………… chemicals, including at 
least 70 known to cause cancer resulting in 480,000 U.S. ( die ) …………… each year. E-cigarettes are 
still so new that scientists haven’t had time to determine all of their ( affect ) ………………………… . 
Recent studies have revealed that some e-cigarettes release other toxic materials, such as cadmium, 
a metal that can cause ( breathe ) ………………………… problems. 

1° Match a sentence part from A with another one from B to get a coherent paragraph. There is an 
extra part in B ( 2.5 mks ) : Teens across USA are burning up about the number of young people who 
start smoking each year. In West Virginia, a teen is fighting against tobacco use. 1- In this state alone, 
more than 2.000 kids younger than 18 become smokers each year, 2- Teens start smoking even 
though national and state laws 3- Tobacco companies neither can use cartoon celebrities to advertise 
their products to kids, 4- If cigarette manufacturers don’t advertise to kids 5- However, even though 
tobacco advertising is not aimed at children, 1 + . / 2 + . / 3 + . / 4 + . / 5 + . a- It can still catch their 
attention. b- forbid the marketing and sale of tobacco products to youths. c- and the situation there 
is not that different from other areas of the country. d- smokers themselves are more likely to quit e- 
cigarette sales might drop 20 percent. f- nor can stores sell tobacco products to kids. 

1° Every cigarette you smoke is harmful 2° Smoking is the biggest cause of preventable deaths in 
England, leading 3° Smokers who keep on smoking despite the warnings and health risks are 4° One 
in two smokers will die 5° If you can see the damage, 6° The good news is that once you stop 
smoking, a° to your body b° to nearly 80,000 victims each year. c° more likely to have a stroke or lung 
cancer. d° in poor health and tobacco addiction. e° your health will improve and your body will begin 
to recover. f° you'll stop. g° from a smoking-related disease. 
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